



IN THE
SUPREME COURT OF THE UNITED STATES

DANTE R. VOSS,

Petitioner,

VS.

KEVIN A. CARR,

Respondent.

PETITIONER'S MOTION FOR LEAVE TO PROCEED IN FORMA PAUPERIS

The petitioner asks leave to file the attached petition for a writ of certiorari without payment of costs and to proceed in forma pauperis.

AS GROUNDS, petitioner states as follows:

1. Petitioner has previously been granted leave to proceed in forma pauperis in the following courts regarding this case:

- (a) The United States District Court for the Western District of Wisconsin; and
- (b) The United States Court of Appeals for the Seventh Circuit.

2. Petitioner's affidavit or declaration in support of this motion is attached hereto.

3. Petitioner has not been appointed counsel in any proceeding before the federal courts in this matter.

Dated this 24th day of October, 2022.

Respectfully submitted,

Dante Voss

Dante Voss #347294
Oshkosh Corr. Inst.
P.O. Box 3310
Oshkosh, WI 54903

IN THE
SUPREME COURT OF THE UNITED STATES

DANTE R. VOSS,

Petitioner,

VS.

KEVIN A. CARR,

Respondent.

PETITIONER'S AFFIDAVIT OR DECLARATION
IN SUPPORT OF MOTION FOR LEAVE TO PROCEED IN FORMA PAUPERIS

I, Dante R. Voss, am the petitioner in the above-entitled case. In support of my motion to proceed in forma pauperis, I state that as a result of poverty I am unable to pay the costs of this case or to give security therefor and I believe that I am entitled to redress.

1. I do not have a spouse. During the past 12 months, I received an average of approximately \$350 for my employment with the Wisconsin Department of Corrections as an inmate worker. I expect to receive approximately \$56 next month from that same job. I do not have any other sources of income.
2. My employment history for the last two years has been an inmate worker for the Wisconsin Department of Corrections, Oshkosh Corr. Inst., P.O. Box 3530, Oshkosh, WI 54903. My current gross monthly pay is approximately \$56.
3. I do not have any cash. I have a savings account with less than \$50 in it.
4. I do not own any real estate, motor vehicles, or other assets.
5. I do not have any person, business, or organization that owes me any money.
6. My average monthly expenses are exactly equal to the pay I receive from the Wisconsin Department of Corrections. They deduct my pay at 100% for federal and state filing fees.
7. I do not expect any major changes to my monthly income, expenses, assets, or liabilities during the next 12 months.

8. I have not paid - nor will I be paying - an attorney any money for services in connection with this case, including the completion of this affidavit/declaration.
9. I have not paid - nor will I be paying - anyone other than an attorney (such as a paralegal or a typist) any money for services in connection with this case, including the completion of this affidavit/declaration.
10. I am a prisoner confined in a Wisconsin prison and 100% of any money deposited into my trust account is immediately disbursed for state and federal filing fees.

Pursuant to 28 U.S.C. § 1746, I declare under the penalty of perjury that the foregoing is true and correct to the best of my knowledge.

Dated this 24th day of October, 2022.

Dante Voss

Dante Voss

WI DOC
REPORT NO. IBSR923 - AM

Trust Account Activity Statement

PAGE: 1 of 3

PROCESSED: 02/01/2023 10:48

REQUESTOR: Susan Schwartzbauer

From 8/1/2022 To 2/1/2023
Oshkosh Correctional Institution

DOC #: 347294
NAME: VOSS, DANTE R
DOB: 12/14/1980
LOCATION: OSCI-DNC-D065_L

START BALANCE: 0.00
END BALANCE: 0.00
AVERAGE MONTHLY BALANCE: 0.00
AVERAGE MONTHLY DEPOSITS: 50.00
NUMBER OF DAYS IN PERIOD: 185

ACCOUNT ACTIVITY

DATE	INST	TRANSACTION DESCRIPTION	RECEIPT/INFO	AMOUNT	DEPOSIT
08/12/2022	OSCI	Tutor 4 004 7/17/22-7/30/22 Reg:72@\$0.35		25.20	YES
08/12/2022	OSCI	Freeze for Federal PLRA	19-CV-790-JDP	(5.04)	
08/12/2022	OSCI	Freeze for Federal PLRA	CASE NO 19-CV-790-jdp APPEAL NO 20-2015	(5.04)	
08/12/2022	OSCI	State PLRA	APPEAL NO 2020AP001581<div>CIRCUIT COURT CASE NO 2019CV000086</div>>	(15.12)	
08/26/2022	OSCI	Tutor 4 004 7/31/22-8/13/22 Reg:80@\$0.35		28.00	YES
08/26/2022	OSCI	Freeze for Federal PLRA	19-CV-790-JDP	(5.60)	
08/26/2022	OSCI	Freeze for Federal PLRA	CASE NO 19-CV-790-jdp APPEAL NO 20-2015	(5.60)	
08/26/2022	OSCI	State PLRA	APPEAL NO 2020AP001581<div>CIRCUIT COURT CASE NO 2019CV000086</div>>	(16.80)	
09/09/2022	OSCI	Tutor 4 004 8/14/22-8/27/22 Reg:80@\$0.35		28.00	YES
09/09/2022	OSCI	Freeze for Federal PLRA	19-CV-790-JDP	(5.60)	
09/09/2022	OSCI	Freeze for Federal PLRA	CASE NO 19-CV-790-jdp APPEAL NO 20-2015	(5.60)	
09/09/2022	OSCI	State PLRA	APPEAL NO 2020AP001581<div>CIRCUIT COURT CASE NO 2019CV000086</div>>	(16.80)	
09/23/2022	OSCI	Tutor 4 004 8/28/22-9/10/22 Reg:64@\$0.35		22.40	YES
09/23/2022	OSCI	Freeze for Federal PLRA	19-CV-790-JDP	(4.48)	
09/23/2022	OSCI	Freeze for Federal PLRA	CASE NO 19-CV-790-jdp APPEAL NO 20-2015	(4.48)	
09/23/2022	OSCI	State PLRA	APPEAL NO 2020AP001581<div>CIRCUIT COURT CASE NO 2019CV000086</div>>	(13.44)	
10/07/2022	OSCI	Tutor 4 004 9/11/22-9/24/22 Reg:80@\$0.35		28.00	YES
10/07/2022	OSCI	Freeze for Federal PLRA	19-CV-790-JDP	(5.60)	
10/07/2022	OSCI	Freeze for Federal PLRA	CASE NO 19-CV-790-jdp APPEAL NO 20-2015	(5.60)	
10/07/2022	OSCI	State PLRA	APPEAL NO 2020AP001581<div>	(16.80)	

			CIRCUIT COURT CASE NO 2019CV000086</div>		
10/21/2022	OSCI	Tutor 4 004 9/25/22-10/08/22 Reg:80@\$0.35		28.00	YES
10/21/2022	OSCI	Freeze for Federal PLRA	19-CV-790-JDP CASE NO 19-CV-790-jdp APPEAL NO 20-2015	(5.60) (5.60)	
10/21/2022	OSCI	Freeze for Federal PLRA			
10/21/2022	OSCI	State PLRA	APPEAL NO 2020AP001581</div> CIRCUIT COURT CASE NO 2019CV000086</div>	(16.80)	
11/04/2022	OSCI	Tutor 4 004 10/09/22-10/22/22 Reg:80@\$0.35		28.00	YES
11/04/2022	OSCI	Freeze for Federal PLRA	19-CV-790-JDP CASE NO 19-CV-790-jdp APPEAL NO 20-2015	(5.60) (5.60)	
11/04/2022	OSCI	Freeze for Federal PLRA			
11/04/2022	OSCI	State PLRA	APPEAL NO 2020AP001581</div> CIRCUIT COURT CASE NO 2019CV000086</div>	(16.80)	
11/18/2022	OSCI	Tutor 4 004 10/23/22-11/05/22 Reg:80@\$0.35		28.00	YES
11/18/2022	OSCI	Freeze for Federal PLRA	19-CV-790-JDP CASE NO 19-CV-790-jdp APPEAL NO 20-2015	(4.64) (5.60)	
11/18/2022	OSCI	Freeze for Federal PLRA			
11/18/2022	OSCI	State PLRA	APPEAL NO 2020AP001581</div> CIRCUIT COURT CASE NO 2019CV000086</div>	(17.76)	
12/02/2022	OSCI	Tutor 4 004 11/06/22-11/19/22 Reg:80@\$0.35		28.00	YES
12/02/2022	OSCI	Freeze for Federal PLRA	CASE NO 19-CV-790-jdp APPEAL NO 20-2015	(5.60)	
12/02/2022	OSCI	State PLRA	APPEAL NO 2020AP001581</div> CIRCUIT COURT CASE NO 2019CV000086</div>	(13.88)	
12/02/2022	OSCI	State PLRA	APPEAL NO 2021AP000367 W CIRCUIT COURT CASE NO 2019CV000086	(8.52)	
12/16/2022	OSCI	Tutor 4 004 11/20/22-12/03/22 Reg:64@\$0.35		22.40	YES
12/16/2022	OSCI	Freeze for Federal PLRA	CASE NO 19-CV-790-jdp APPEAL NO 20-2015	(4.48)	
12/16/2022	OSCI	State PLRA	APPEAL NO 2021AP000367 W CIRCUIT COURT CASE NO 2019CV000086	(17.92)	
12/30/2022	OSCI	Tutor 4 004 12/04/22-12/17/22 Reg:80@\$0.35		28.00	YES
12/30/2022	OSCI	Freeze for Federal PLRA	CASE NO 19-CV-790-jdp APPEAL NO 20-2015	(5.60)	
12/30/2022	OSCI	State PLRA	APPEAL NO 2021AP000367 W CIRCUIT COURT CASE NO	(22.40)	

WI DOC
REPORT NO. IBSR923 - AM

Trust Account Activity Statement

PAGE: 3 of 3

PROCESSED: 02/01/2023 10:48

REQUESTOR: Susan Schwartzbauer

			2019CV000086		
01/13/2023	OSCI	Tutor 4 004 12/18/22-12/31/22 Reg:80@\$0.35		28.00	YES
01/13/2023	OSCI	Freeze for Federal PLRA	CASE NO 19-CV-790-jdp APPEAL NO 20-2015	(5.60)	
01/13/2023	OSCI	State PLRA	APPEAL NO 2021AP000367 W CIRCUIT COURT CASE NO 2019CV000086	(22.40)	
01/27/2023	OSCI	Tutor 4 004 1/01/23-1/14/23 Reg:80@\$0.35		28.00	YES
01/27/2023	OSCI	Freeze for Federal PLRA	CASE NO 19-CV-790-jdp APPEAL NO 20-2015	(5.60)	
01/27/2023	OSCI	State PLRA	APPEAL NO 2021AP000367 W CIRCUIT COURT CASE NO 2019CV000086	(22.40)	

I CERTIFY THAT THIS IS A TRUE AND CORRECT
COPY OF THE IDENTIFIED INMATE'S TRUST
FUND STATEMENT FOR THE SIX MONTH PERIOD
IMMEDIATELY PRECEDING THE COMPLETION OF
THIS REPORT.

FOR OSHKOSH CORRECTIONAL INSTITUTION

Susan Schwartzbauer
AUTHORIZED SIGNATURE
Financial Specialist-Sr.
2/1/23
TITLE
DATE

Oshkosh Correctional Institution
From 08/01/2022 through 02/01/2023
FOR YOUR INFORMATION ONLY

DOC #: 347294
Name: VOSS, DANTE R
Location: D/NC D065/ L

Account Balances:

Account Type	Start Balance	End Balance	Hold Balance
REG	\$0.00	\$0.00	\$0.00
REL	\$0.00	\$0.00	\$0.00
Total:	\$0.00	\$0.00	\$0.00

Debts and Obligations:

Total Deposited, Not yet Distributed:	\$0.00	Facility	Pfx	Info Number	Frozen for Fed	PLRA	Balance	Status	%
Federal PLRA		OSCI	00	CASE NO 19-CV-790-jdp APPEAL NO 20-2015		\$11.20	\$181.09	Open	20
State PLRA		OSCI	00	APPEAL NO 2021AP000367 W CIRCUIT COURT CASE NO 2019CV000086			\$101.36	Open	100
Child Support		DCI	00	1180466			\$60.00	Open	50
Victim/Witness Surcharge A			01	98CF00071			\$60.00	Closed	25
Victim/Witness Surcharge A		OSCI	BC	15CF479			\$170.00	Open	25
Victim/Witness Surcharge A		OSCI	BD	16CF686			\$130.00	Open	25
Victim/Witness Surcharge B			01	98CF00071			\$40.00	Closed	25
Victim/Witness Surcharge B			AA	00CM00831			\$1.99	Closed	25
Victim/Witness Surcharge B		OSCI	BC	15CF479			\$81.00	Open	25
Victim/Witness Surcharge B		OSCI	BD	16CF686			\$54.00	Open	25
DNA Surcharge		OSCI	BB	16CF72			\$108.38	Open	50
DNA Surcharge		OSCI	BC	15CF479			\$250.00	Open	50
DNA Surcharge		OSCI	BD	16CF686			\$250.00	Open	50
Income Assignment		OSCI	00				\$1,735.35	Suspend	25
Medical Co-pay		RYCF	00	05/19/2004			\$279.24	Open	50
Legal Loan (Indigent)		WCI	00	01/03/2003			\$36.47	Open	50
Legal Loan (Indigent)		RYCF	00	02/19/2004			\$505.25	Open	50
Legal Loan (Indigent)		RYCF	00	01/13/2005			\$42.81	Open	50
Legal Loan (Indigent)		OSCI	00	12/19/2017			\$21.59	Open	50
Legal Loan (Indigent)		OSCI	00	01/09/2018			\$55.44	Open	50
Legal Loan - Supplies		OSCI	00	02/02/2021			\$6.17	Open	50
Legal Loan - Supplies		OSCI	00	03/10/2020			\$1.23	Open	50
Legal Loan - Supplies		OSCI	00	01/08/2019			\$8.94	Open	50
Legal Loan - Copies		OSCI	00	02/01/2023			\$0.75	Open	50
Legal Loan - Copies		OSCI	00	01/20/2022			\$80.82	Open	50
Legal Loan - Copies		OSCI	00	01/27/2021			\$130.39	Open	50
Legal Loan - Copies		OSCI	00	01/22/2020			\$142.80	Open	50
Legal Loan - Copies		OSCI	00	11/29/2018			\$20.10	Open	50
Legal Loan - Postage		OSCI	00	01/21/2022			\$43.52	Open	50
Legal Loan - Postage		OSCI	00	03/02/2021			\$19.88	Open	50
Legal Loan - Postage		OSCI	00	01/24/2020			\$30.20	Open	50
Legal Loan - Postage		OSCI	00	01/14/2019			\$62.92	Open	50
Legal Loan - Postage		OSCI	00	09/04/2018			\$9.97	Open	50
Legal Loan - Copies		OSCI	00	01/08/2019			\$75.60	Open	50
Misc. Loan Charge		RYCF	00	02/03/2005			\$2.68	Open	50
Fines			02	99CM191			\$26.27	Closed	50
Fines			AA	00CM00831			\$20.00	Closed	50

~ Division of Adult Institutions not collecting at this time. Balance to be addressed with the Division of Community Corrections upon release.
† AMOUNT FROZEN, NOT YET DISTRIBUTED TO THE COURT. TRANSMIT TO CLERK OF COURTS PURSUANT TO 28 U.S.C. § 1915(b)(2).

Oshkosh Correctional Institution
From 08/01/2022 through 02/01/2023
FOR YOUR INFORMATION ONLY

DOC #:	347294						
Name:	VOSS, DANTE R						
Location:	D/NC D065/_L						
Fines		OSCI	BB	16CF72	\$4,080.00	Open	50
Court Costs			01	98CF00071	\$20.00	Closed	50
Court Costs			02	99CM191	\$74.00	Closed	50
Court Costs			AA	00CM00831	\$30.00	Closed	50
Court Costs		OSCI	BB	16CF72	\$739.00	Open	50
Court Costs		OSCI	BC	15CF479	\$628.00	Open	50
Court Costs		OSCI	BD	16CF686	\$352.00	Open	50
Supervision Fee~			00	02/09/1998		Open	0

Account Activity:

Date	Acct Type	Facility	Transaction Description	Receipt/Info Number	Amount
08/12/2022	REG	OSCI	Tutor 4 004 7/17/22-7/30/22 Reg:72@\$0.35		\$25.20
08/12/2022	REG	OSCI	Freeze for Federal PLRA	19-CV-790-JDP	(\$5.04)
08/12/2022	REG	OSCI	Freeze for Federal PLRA	CASE NO 19-CV-790-	(\$5.04)
				jdp APPEAL NO 20-2015	
08/12/2022	REG	OSCI	State PLRA	APPEAL NO	(\$15.12)
				2020AP001581 CIRCUIT	
				COURT CASE NO	
				2019CV000086	
08/26/2022	REG	OSCI	Tutor 4 004 7/31/22-8/13/22 Reg:80@\$0.35		\$28.00
08/26/2022	REG	OSCI	Freeze for Federal PLRA	19-CV-790-JDP	(\$5.60)
08/26/2022	REG	OSCI	Freeze for Federal PLRA	CASE NO 19-CV-790-	(\$5.60)
				jdp APPEAL NO 20-2015	
08/26/2022	REG	OSCI	State PLRA	APPEAL NO	(\$16.80)
				2020AP001581 CIRCUIT	
				COURT CASE NO	
				2019CV000086	
09/08/2022	Medical Co-pay	OSCI	Increase Amount Owed	05/19/2004	\$7.50
09/09/2022	REG	OSCI	Tutor 4 004 8/14/22-8/27/22 Reg:80@\$0.35		\$28.00
09/09/2022	REG	OSCI	Freeze for Federal PLRA	19-CV-790-JDP	(\$5.60)
09/09/2022	REG	OSCI	Freeze for Federal PLRA	CASE NO 19-CV-790-	(\$5.60)
				jdp APPEAL NO 20-2015	
09/09/2022	REG	OSCI	State PLRA	APPEAL NO	(\$16.80)
				2020AP001581 CIRCUIT	
				COURT CASE NO	
				2019CV000086	
09/23/2022	REG	OSCI	Tutor 4 004 8/28/22-9/10/22 Reg:64@\$0.35		\$22.40
09/23/2022	REG	OSCI	Freeze for Federal PLRA	19-CV-790-JDP	(\$4.48)
09/23/2022	REG	OSCI	Freeze for Federal PLRA	CASE NO 19-CV-790-	(\$4.48)
				jdp APPEAL NO 20-2015	
09/23/2022	REG	OSCI	State PLRA	APPEAL NO	(\$13.44)
				2020AP001581 CIRCUIT	
				COURT CASE NO	
				2019CV000086	
10/07/2022	REG	OSCI	Tutor 4 004 9/11/22-9/24/22 Reg:80@\$0.35		\$28.00
10/07/2022	REG	OSCI	Freeze for Federal PLRA	19-CV-790-JDP	(\$5.60)
10/07/2022	REG	OSCI	Freeze for Federal PLRA	CASE NO 19-CV-790-	(\$5.60)
				jdp APPEAL NO 20-2015	
10/07/2022	REG	OSCI	State PLRA	APPEAL NO	(\$16.80)
				2020AP001581 CIRCUIT	
				COURT CASE NO	
				2019CV000086	

~ Division of Adult Institutions not collecting at this time. Balance to be addressed with the Division of Community Corrections upon release.

† AMOUNT FROZEN, NOT YET DISTRIBUTED TO THE COURT. TRANSMIT TO CLERK OF COURTS PURSUANT TO 28 U.S.C. § 1915(b)(2).

Oshkosh Correctional Institution
From 08/01/2022 through 02/01/2023
FOR YOUR INFORMATION ONLY

DOC #:	347294				
Name:	VOSS, DANTE R				
Location:	D/NC D065/_L				
10/21/2022	REG	OSCI	Tutor 4 004 9/25/22-10/08/22 Reg:80@\$0.35		\$28.00
10/21/2022	REG	OSCI	Freeze for Federal PLRA		(\$5.60)
10/21/2022	REG	OSCI	Freeze for Federal PLRA		(\$5.60)
10/21/2022	REG	OSCI	State PLRA		(\$16.80)
11/04/2022	REG	OSCI	Tutor 4 004 10/09/22-10/22/22 Reg:80@\$0.35		\$28.00
11/04/2022	REG	OSCI	Freeze for Federal PLRA		(\$5.60)
11/04/2022	REG	OSCI	Freeze for Federal PLRA		(\$5.60)
11/04/2022	REG	OSCI	State PLRA		(\$16.80)
11/18/2022	REG	OSCI	Tutor 4 004 10/23/22-11/05/22 Reg:80@\$0.35		\$28.00
11/18/2022	REG	OSCI	Freeze for Federal PLRA		(\$4.64)
11/18/2022	REG	OSCI	Freeze for Federal PLRA		(\$5.60)
11/18/2022	REG	OSCI	State PLRA		(\$17.76)
12/02/2022	REG	OSCI	Tutor 4 004 11/06/22-11/19/22 Reg:80@\$0.35		\$28.00
12/02/2022	REG	OSCI	Freeze for Federal PLRA		(\$5.60)
12/02/2022	REG	OSCI	State PLRA		(\$13.88)
12/02/2022	REG	OSCI	State PLRA		(\$8.52)
12/16/2022	REG	OSCI	Tutor 4 004 11/20/22-12/03/22 Reg:64@\$0.35		\$22.40
12/16/2022	REG	OSCI	Freeze for Federal PLRA		(\$4.48)
12/16/2022	REG	OSCI	State PLRA		(\$17.92)
12/30/2022	REG	OSCI	Tutor 4 004 12/04/22-12/17/22 Reg:80@\$0.35		\$28.00
12/30/2022	REG	OSCI	Freeze for Federal PLRA		(\$5.60)
12/30/2022	REG	OSCI	State PLRA		(\$22.40)
01/13/2023	REG	OSCI	Tutor 4 004 12/18/22-12/31/22 Reg:80@\$0.35		\$28.00
01/13/2023	REG	OSCI	Freeze for Federal PLRA		(\$5.60)
01/13/2023	REG	OSCI	State PLRA		(\$22.40)

Oshkosh Correctional Institution
From 08/01/2022 through 02/01/2023
FOR YOUR INFORMATION ONLY

DOC #: 347294

Name: VOSS, DANTE R
Location: D/NC D065/ L

01/27/2023 REG

OSCI Tutor 4|004|1/01/23-1/14/23|Reg:80@\$0.35

\$28.00

01/27/2023 REG

OSCI Freeze for Federal PLRA

CASE NO 19-CV-790- (\$5.60)
jdp APPEAL NO 20-2015

01/27/2023 REG

OSCI State PLRA

APPEAL NO (\$22.40)
2021AP000367 W
CIRCUIT COURT CASE
NO 2019CV000086

I CERTIFY THAT THIS IS A TRUE AND CORRECT
COPY OF THE IDENTIFIED INMATE'S TRUST
FUND STATEMENT FOR THE SIX MONTH PERIOD
IMMEDIATELY PRECEDING THE COMPLETION OF
THIS REPORT.

FOR OSHKOSH CORRECTIONAL INSTITUTION

Sue Schwabauer
AUTHORIZED SIGNATURE

Financial Specialist-Sr.

2/1/23
TITLE
DATE